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\}./Translate the following passages : 4x4=]

o

T
g=g — qaq! T T MR EUGH
Fﬁdﬂ‘j\”jﬁ/'/

(d) . il '
fygeAT FgER o1, HTGH ¥ a7 | IRT OF T8 H1a1-fady fd arefy

37y gegdard Paarl
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( 3 )

\2/4}1311'1 the following verses with reference to the context :

5x2=10
2T -STHS (TYAIR TR CIFCIROT AT 1A -
TR -S5O (HIACW N CNFETE A I -

@/Wﬁﬂg@@ﬁq|
IR T8 a0 AYFFam 730 Tom )

Or / 71231 / 52l

1T 97 3¢ a7 F81 AT 37 TATIE: |
T T fA9Ta=aT FEEnETEl I |

(b) TOTHTCT He4 JATRHGA |
ERIIEINE RIS I ECTICES ]

Or / 721 / 541
eI TS fﬁﬂ'ﬁ CERILY ﬂjﬁ'{: |
o ffaer yfagar Afaafaa
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3. Elucidate the idea of the following : 4x2=8
woT® MAAEE O] 262 o4

N5 weT AFLCAR SR RGeS I

(@) FTgee famgf faferfae wivsaa: |

Or / 7Z31 / 9<{l

AFAREYAT-AgE ] |

B18-SX (E)/42A ( Contd.




[ % )

. 3=12
"}/@r the following questions : -

O PR Taq ey

N erygzzem el

(4)” How did the leader of the monkeys take his revenge OO
king Chandra?
AR AT (FCTCA TN THI SRS ATy 7T 2
RCR WS fPeIR e vww Tons afeny fcafze 2

: By i 2
. (b) ~From which drama the lesson YUJ&EE] o is adopted:
Give an introduction of the dramatist.

WGHRE oW AR o (WIS | R T (R
AoFRER @t #fRey 7 |

UTTHEE GO NS M (I 0P (CT F3Z F AR 2 AGFPIRR
9T 257 WS |

(c)” Answer the following questions in Sanskrit :

TR 2PIERE Teq Svpos o9

N PSR TEY S A
\yi/ﬂ T FF IEq?

(i1 TR F: WY GEEIOT ST

5. (a) Answer the following questions : 2%x5=10
o AR T o
oA =PI TER (@A
() ‘T Y Ry T 9 e |
What is meant by ‘743’ here?
2T R i iR
Q3R T s B a2
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(i1) fReTER qeAg?’’
Who asked this question and to whom was it asked?
What is the ‘79’ referred to here?

G2 opafb @A, IR fAfRE e wWe [ orA I TEY 4
xR?

<% 2pgfh
9

I e vl 2 aven R v -9 3 T

erive any two of the following words :
ToTe R R @Il o geeife fefy w4
ANTHA *RASTAR @ FIel gfoa Jeeoife fefy e

gTH: 5 TRAT; TG ; T9
(iy) Fill in the blanks :
YA 21 /e 3

MR ol AN )
famr @WQ T +fra famm 7 |

W did Sankaradeva do to spread his religion?

*SFACA (DS Y2bRY A3 & FlRRe 2
*FIHd O 4ebIEd &0 [ Feafeces 2

(iii)

\(b)/(f) How many Chapters are there in the “H&fa? )
SR
WIS (F2D] SR R 2 5\‘6\@ Y2 O\
“TIHATS FAH SR S ?

Mt 1s the name of the TH? 1
N\
TEER AR ?i@" N\

‘CH -Gq T F1 2
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& %e the Sanskrit equivale

nt of the word .
I xS oo gy | ﬁ\‘

"Tﬁf’mﬂ:“%‘aﬁmms:

(iv) What is Superior to happiness?

IStT Taw R 9
TR (W= Tey F9

(v) Fill in the blank
T 572 ofaet 3 -
TR 2 T

__ Tomeff,

\Mho 1s the author of the lesson TG - GHRAT?

1
T -GORAT 9 oifee EE @ 2 = (70 m’i&\%%m'f\

‘w-gwm’wvmamm

S TEFRIY is a drama

Write Yes’ or ‘No’.

AREFIREY g3 75 |

1.5 m’ﬁ?nl

TR <l 15 |

B’ /@A @A |

\(W many Cantos are there in the ‘W’P

TS A S

I -« T 31f Wy 2

rite the word opposite in meaning of

I 4 FoiR el qrwm == forgy | aﬁ%'.
T 0 e e R e |

g,

‘
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(a) Account for the case-endings in any two of the following :
2x2=4

(7 )

rd

N

(b)

T R Il o wre-Rrsfs fdf 4
[ @ @ o FRe-Rsfe R v
‘I in Q. No. 1(a)

[1°R (q) g=e ]

[ 1R (a) 2T |

‘T’ in Q. No. 1(b)

[ 172 (b) 2P ]

[ 1 7% (b) 2T |

‘G’ in Q. No. 1(c)

[1%R (c) &7© ]

[ 1R (¢) 2rCS |

‘9’ in Q. No. 2(a)

[ 2 R (a) TS ]

[ 2 % (a) S ]

rive any two of the following :
oo R I o Peeis el 4
Twa @ @ yiva geeife e e
‘T’ in Q. No. 1(a) Or — &) \/—{%’“‘ + &
[ 172 (@) M3 2°9 |
[ 1 7% (@) ST 2RI |

Ox2=4

Smfeafa’ in Q. No. 1(b) O{W?‘}\‘Y‘%ﬁj\* m@

[ 172 (b) 72 24T |
[ 1 7R (b) G%{I 2P |
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"HAPTA:" in Q. No. 2(a) Or y \(/b)/
[ 2 7R (a) M2 2P ]

[ 2 TR (@) T 24T |
‘Ted' in Q. No. 2(a
[ 2R (a) 21 |

| 2 R (a) 2O |

7. fa) Decline any two of the following : 1¥2%2=3

O] U I o ¥Rl {74
AN A I o7 *ZFA (T

. in Jd197 singular H@—a

[ o Refer yIIoo |

[ OR efed GFIBE |

.\j?/in Y8 plural '&@/(;’m \

[ 321 fefeq 235 | ~

i

[ 79 Rsfeq I=avcA |

Y’ in T8 plural
| Faor [efed I2IH-o |

[ e e q236e |

B1
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oy (b)” Conjugate any two of the following : 12%x2=3

ol R @A o argnt o1
ANwa @ @Al qfoa el Al
VfIg in @ 1
[ = fefea = |
[ 1% frefem = ]
VU8 in @ A
[ =g RRefe= = )
[ T fefem =i |
V¥ in fafafeg (smemme) @
[ Rftferg fefea (S m) 3 |
[ ffdfere Rsfea (Smacem) 5 |
VI in 9 W@
[ ok fsfea =z |
[ =1k fsfe s |
(c) ame and expound any two of the following : 2%x2=4
oo T I o APTER fFE pR W
Moo @ @I oA FEFEF BIed TN = e
qeTg: ; GATEEET ; dEATE ; WEET

W the voice in any one of the following : 2
wod [ (@IGT GBR AT “AfEE 39
BlH «3f6a A RS T
(i) T &= |
(i) § A7 TR Tl
(iii) AT FAA |
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2+1=3
() ~Define and illustrate FT FF’,

‘T RS T AW HF Twrzae T |
T ISP -9 R G2 THIER WS |

Or / 71331 / 924y

_ €
Give examples, in suitable sentences, of any two Oflgl x2=3
following : ’

RS ITE o R @I G5 Tz
T AT @ @I g7 T WIS
1) SH-3fTe-vamT

1) e Sgd

(iti) ¥F: T

(iv) I Fraiomg

(f)~ Give the resultant forms of any two of the following :

1x2=2
TR R @I R Freem e i

A @ @I 757 Freom el @
() VF + P+ v fa
N+ P+ = f
(i N+ 7+

(iv) N7 + 1 + @ fa

Wsla‘ce into Sanskrit any four of the following sentences
2Vax4= 16

e i e wiiRGt A Sevgretet s 3

e @ B AR IS SR A

(@) Ahe children are playing in the playground,
AT/~ QAN ((FS (4R = |
CREETCACEA] (LR Mo (¥&] FACE |
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(b) /Which class do you read in?
T o M AT SiEs T
oy (FF IS S I 2

(c0 KRama killed Ravana, the king of Lanka.
AT FFE 5] AT TS IR |
A TR I ARNS 4 FCAEA |

(d) /Nothing can be accomplished without hard work.
ofee SfREeA, (e IR T=A |

2T (@I I S ] IR AL

(e)/ 1 shall go to Delhi tomorrow.

(f) / He is receiving instruction from the preceptor.
5€ SHHI 7[[1 TA@L 434 FI %
7 SHRA (AT T
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